Chapter 2 Test Review

Find the next item in each pattern.

1) D D D 2) 405, 135,45, 15, ...
e J, , , e >
0

3) Complete the conjecture “The sum of two even numbers is Wel“

4) Show that the conjecture “All complementary angles are adjacent” is false by finding a counterexample.

EX’ g v LA and XB are com
A A’—’ oéa but not adJacerP»"f-

5) Identify the hypothesis and the conclusion of the conditional statement “The show is cancelled if it rains.”

H. ot rans
C: +ne ghew 1s canceUed

6) Write a conditional statement from the sentence “Parallel lines do not intersect.”

IF lines ave an\le\, Hhen the do not intersedt.

Determine if the conditional is true. If false, give a counterexample.

7) If two lines intersect, then they form four right angles.

- nd b Intersedh, but
‘Fp\’\g_e N b do rfo:\(g;vm n%M— x's

8) If a number is divisible by 10, then it is divisible by 5.

Tt
—

Use the conditional “If you live in the United States, the you live in Kentucky” for items 9 - 11. Write the indicated
type of statement and determine its truth value. »

9) Comverses | [ you lve n Kentucky, Hoen you live inthe Us
[k
10) Inverse: l(: 36\& do L\();\' \wWe \n HQ« US‘-H\en UM JD
\n Kunhucky.
Wk NOT lwe Y

11) Contrapositive: |P ém dO Yl()_'l’ ‘\\N/ N \(Qn’luck ,-qun
@‘ﬁ ym Ao NOT \W& 1n the US.



12) Determine if the following conjecture is valid by the Law of Syllogism. If it is invalid, fix the conjecture.

Given: Ifitis colder than 50°F, then Tom wears a sweater. If Tom wears a sweater, then he is cold.

\
| G itoh !
Conjecture: If Tom is cold, then it is colder than 50°F. Iﬁ\/a\\ d o Swr'-ah/o

7 P it1scolder than OUF,
then Tom 1S cotd.

13) Use the Law of Syllogism to draw a conclusion from the given information.
Given: Ifa figure is a square, then it is a quadrilateral. If a figure is a quadrilateral, then it is

a polygon. Figure ABCD is a square.

Conclusion: H@“Vb HEGD 1S A P‘C(U@M

14) Write the conditional statement and converse within the biconditional “Chad will work on Saturday if and only
if he gets paid overtime.”

\F Chad wovks turday 4hev he wi\
ondihonal © I Chad work - InSaturday, get

ooveree: |F Oad geks pad N hme, Haen he will

WOV K QwhAwptﬁ/U .
_ PALSE
15) Determine if the biconditional “B is the midpoint of AC iff AB = BC If false, gi mple.

cndihonal * IF B 1s mudpt of AT, +hen AB =BC. TVue
ot s \PAB=BC, Hhen B is mudpl of B False

Identify the %Q{that Justifies each statement. ?-(’
17) mxDEF = mxDEF

16) 1f2x=yandy=@then 2x=7. B C
Qupshtwhon B 1oNOT Reffex\ve
midp¥

18) xX=P,and £P= xD. SoxX = D. 19) IfST=XY,thenXY =ST.

Tians\hve gbmmdwo



Drawing Conclusions

20) Given: DB bisects ZADC C

D
Conclusion: 4 H D% "é 4BDCJ
o LF 0 ro biceckS an%, w5 Finto 2 XS

o

A B

21) Given: E is the midpoint of DB

—— N —_—
Conclusion: DE = EB

reson: 1 0L pLis midpt. of- g segment, then it ~the
Segment nto 2 L segments,

Writing Proofs

22) Given: 2 is supplementary to /3
/3 s supplementary to /1

Prove: /1= /2

Statements Reasons

N&9 supp to X3 ‘
%43 supp to | Given

2 x| 57 TF two angles are sugp
o the same Fthen they

23) Given: BA=AT are/ nN
Prove: A is the midpoint of BT

Statements Reasons

PA LAT O aiven \
@ A ismidpt.of BT @ I asgment 15 ~into Z
Q-gcgm@n‘l‘\s bg apoiﬂT!W
the point 16 a Wiapoint.




24) Given: OG bisects ZDOS b
Prove: Z/DOG = /GOS 0 %
S

Statements Reasons

@G?bi%d‘s 4005 @@\‘\/m

@ xToG % 5-G0S 2 If o ray bisects
on Zteen [t divides

+he X o 2 ¥ x5

25N

25) Given: XC and £Kform a linear pair

Prove: XC and XK are supplementary.

Statements Reasons

O % Card XK M a l.p |Daiven

D XCEXY ot SUPP. @) Tf 2 35 forman
linear pair, then ey e
Supplementary

26) 26) Given: XC and XKare right angles.
£C= XM
Prove: XM and xKare right angles.

Statements Reasons

) & C ond FKare rightxs [Deiven
2C 2xM caven

@%wt and 2 Ic are Substifution Tropey
Y ;

You must also study notes, previous homework assignments, learning targets, and problems from the book!



